normalized X?

[ normalized x? probability |

A

Entries

1 )
Il el
I .
l .
1 9 -
i 3
09¥0—2"4 6 8 10 12 14 16 18 20 099901 0.2 0.3 0.4 0.5 0.6 0.7 0.8 09 1
X Prob(x?)
m—m== DQM_mkFit_TToriginal
= DQM_mkFit_TTNEWnoMS-genMatch-CUT
2 — 5
&0 F g E :
=] o ~ .
c L A C .
~ L At FEEE B || EEEE BF B EPE E
< 2.5 \QF o : :
v o LF : :
E P AR STREECTE R
ok v o : :
L o CRRR B || SR SERPRR Beeees
1.5F P SRS B 11 || SO IS
¥ o
; Tl L A e —
2 04 o+ ' +
T T
@ o
1= il
0953 083" 0 R
TP n (PCA to beamline)
A 5: A n
2 4_55_ E 1.8F-
x E < 1.6F-
\ 4: v o
3.5F Lap-
1.2F
3 E
1=-
2.5] E
0.8F-
0.6
0.4F
0.2F
o O
T
@
0.5
b ok
107 1 10 102 10 1072

<dpp. > (%)

o }
3 :
24 .
b S R Al el e -: ---------
0.95 .
107 1 10 10%

-1
AR(track, jeltS)



	Contents
	Page 1


